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Joe T  -   수능 영어는 기술이다

          
            
            <약점공략- 순서유형>

① 육군사관학교 시험 – 02년도~11년도
                       12년도~15년도
② 경찰대학교 시험

③ 평가원 시험

④ 교육청 시험 – 10년도 ~ 14년도 3,4월
                10년도 ~ 14년도 7,10월
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2010년도 7월 교육청 시험

40. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

Caffeine mimics this process so it can “plug up” the sense organ and prevent adenosine 
from getting through.

If you start the day with a strong cup of coffee or tea, you’re not alone. Americans take in 
the caffeine equivalent of 530 million cups of coffee every day. Caffeine is the world’s most 
popular mood-altering drug. ( ① ) It’s also one of the oldest: according to archaeologists, 
man has been brewing beverages from caffeine-based plants since the Stone Age. ( ② ) 
Caffeine doesn’t keep you awake by supplying extra energy rather it fools your body into 
thinking it isn’t tired. ( ③ ) When your brain is tired and wants to slow down, it releases a 
chemical called adenosine. ( ④ ) Adenosine travels to special cells called receptors, where it 
goes to work counteracting the chemicals that stimulate your brain. ( ⑤ ) The result is that 
your brain never gets the signal to slow down, and keeps building up stimulants.

43. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

Just 20 years ago, chances were you had only one major source of medical information: 
your doctor.

(A) Using the Internet in this way has many advantages. Besides having access to the full 
body of medical literature, you can gain support and feel a sense of connection through 
patient networks.
(B) These days, however, things have changed. The mere hint of a symptom is enough to 
send us to the Internet, where we can type in our symptoms and access a wealth of 
medical information from our favorite health web sites.
(C) But many doctors are skeptical about the helpfulness of online medical information. 
They are concerned that many web-only patients can miss important facts and mismanage 
their problems. The guidance of a real doctor is essential when a significant problem 
develops.

① (A) - (B) - (C)            ② (B) - (A) - (C)              ③ (B) - (C) - (A)
④ (C) - (A) - (B)            ⑤ (C) - (B) - (A)
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2011년도 7월 교육청 시험

43. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

Some people give up as soon as an obstacle is placed in front of them. Some people 
doggedly continue to pursue a goal even after years of frustration and failure.

(A) Those who persevere, conversely, recognize that they are ultimately responsible, not just 
for pursuing their goals, but for setting them. When you are in control, what you do 
matters, and giving up will not seem very attractive.
(B) What is the main difference between these people? It is not ability. It is actually their 
sense of control. Those who feel they are not responsible for choosing their goals and 
pursuing them tend to believe that results are arbitrary.
(C) To them, it does not matter how hard you try, being successful is like winning the 
lottery. With this attitude, it hardly makes sense to work hard or be dedicated to a goal.

① (A) - (C) - (B)                 ② (B) - (A) - (C)               ③ (B) - (C) - (A) 
④ (C) - (A) - (B)                 ⑤ (C) - (B) - (A)

44. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?
                                                                                               
Even train passengers are not safe, as something wet may fly into the train at any time.     
                                                                            
Thai people enjoy the biggest water fight ever! April is the hottest time of the year in 
Thailand. During the three-day celebration, everyone dresses for the dousing they are likely 
to experience. ( ① ) This is not the time to carry cameras or other electronic equipment, 
or to wear designer, dry-clean-only clothing. ( ② ) It’s quite possible for a water balloon to 
come hurtling through an open window at one of the train passengers. ( ③ ) The streets 
are lined with people carrying buckets of water to throw on the unprepared. ( ④ ) Others 
prefer to spray passersby with hoses because it provides a continuous flow of water, which 
makes it easier for them to target people on bicycles and motorcycles. ( ⑤ ) Those 
enthusiasts along the streets had better be on guard, however, because pick-up trucks filled 
with laughing splashers cruise the streets looking for victims to soak before making a quick 
getaway.
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2012년도 7월 교육청 시험

43. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

The bread was made of grains ground on rough stones, which caused small stones to 
become incorporated into the bread dough.

One of the greatest civilizations of ancient times was the Egyptians. The ancient Egyptians 
excelled in many areas of science, one of these being dentistry. (① ) However, they suffered 
from rather unique types of dental problems due to their culture. (② ) The basic diet of 
Egyptians consisted mainly of plants and breads. (③ ) This produced a bread which was 
very coarse in consistency and difficult to chew. (④ ) The plants in their diet were also 
quite gritty as the area in which they lived was very sandy. (⑤ ) The combination of these 
two conditions caused extensive wear and abrasion of their teeth, leading to problems such 
as nerve exposure.

44. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

Much of socialization takes place during human interaction, without the deliberate intent to 
impart knowledge or values.

(A) It is very likely that the message Sally received from the morning’s interactions was that 
it is not OK for children to interrupt adults, but it is OK for adults to interrupt children. 
The example shows that unintentional socialization may be the product of involvement in 
human interaction or observation of interaction.
(B) Later that morning Sally and her friend Tanya are busily playing with Legos. Sally is 
explaining and demonstrating to Tanya how to fit the pieces together. Miss Jones comes 
over to the block corner and interrupts with, “Girls, please stop what you’re doing and 
come and see what Rene has brought to school.”
(C) For example, a four-year-old approaches two teachers conversing and excitedly says, 
“Miss Jones, Miss Jones, look!” One teacher says, “Sally, don’t interrupt; we’re talking.”

① (A) - (C) - (B)                   ② (B) - (A) - (C)                   ③ (B) - (C) - (A) 
④ (C) - (A) - (B)                   ⑤ (C) - (B) - (A)
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2013년도 7월 교육청 시험 A형

38. 다음 글에서 전체 흐름과 관계 없는 문장은?

At Harvard many students are so impatient to shine that they try to peak before 
their full growth, not having time to ponder deeply. ① Being aware of this, the 

dean, Harry R. Lewis, asks freshmen to slow down and get more out of college by 
doing less. ② Dean Lewis does not want to discourage achievement, yet he insists 
that students are more likely to sustain the effort required if they allow time for 

leisure and solitude. ③ He cautions students not to pack their schedule with so 
many activities that they have no time to think about why they are doing what 
they are doing. ④ He asserts that the more work students do at one time, the 

more successful their school life will be. ⑤ Most precious is their freedom to 
choose, he insists, which they can maintain only by allowing for unstructured time 
and flexibility.

39. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은? [3점]

Often, however, someone has an inherent or acquired trait that is foreign to his 
or her parents and must therefore acquire identity from a peer group, which is 

called a horizontal identity.

Because of the transmission of identity from one generation to the next, most 

children share at least some traits with their parents. These are vertical identities. 
( ① ) Attributes and values are passed down from parents to child across the 
generations not only through strands of DNA, but also through shared cultural 

norms. ( ② ) Language, for example, is usually vertical, since most people who 
speak Greek raise their children to speak Greek, too. ( ③ ) Such identities may 
reflect recessive genes, or values and preferences that a child does not share with 

his ancestors. ( ④ ) Criminal behavior is often horizontal; most criminals are not 
raised by gangsters and must invent their own deceptive character. ( ⑤ ) So are 
conditions such as autism and intellectual disability. * autism: 자폐증
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40. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

　
You can make soap at home following this simple method. All you need is soap 
base, essential oils, and a soap-making mold. First cut the soap base into small 

chunks.

(A)　After that, pour the soap into the mold and allow it to completely harden. 

Now you have your own special soap!
(B)　Next, put them in a heat-resistant glass bowl. Put this bowl in the microwave 
and heat it for 45 seconds.

(C)　 And then, carefully stir the soap until all the chunks are completely gone. 
Then, add the essential oils. You can add herbs if you want.

① (A) - (C) - (B)               ② (B) - (A) - (C)                  ③ (B) - (C) - (A)  
④ (C) - (A) - (B)               ⑤ (C) - (B) - (A)
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2013년도 7월 교육청 시험 B형
38. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은? [3점]

In 1985, Garold Stasser and William Titus conducted a study that “challenged the idea that 
group decisions are more informed than individual decisions.”

(A) When all team members possessed the same information, the group decision exceeded 
the quality of individual choices. However, the scholars then created a scenario in which 
each member possessed unique information that his or her colleagues did not have.
(B) To arrive at the optimal decision, individuals needed to share their privately held 
information. The results showed that “groups were more likely to endorse an inferior option 
after discussion than were their individual members before discussion.” The scholars 
surmised that the groups must have had difficulties surfacing all privately held
information.
(C) They created four-person groups and asked them to make a decision. The scholars 
compared the team decision quality with the choices made by individuals given the same 
information.
① (A) - (C) - (B)                      ② (B) - (A) - (C)                     ③ (B) - (C) - (A) 
④ (C) - (A) - (B)                      ⑤ (C) - (B) - (A)

39. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

Often, however, someone has an inherent or acquired trait that is foreign to his or her 
parents and must therefore acquire identity from a peer group, which is called a horizontal 
identity.

Because of the transmission of identity from one generation to the next, most children 
share at least some traits with their parents. These are vertical identities. ( ① ) Attributes 
and values are passed down from parents to child across the generations not only through 
strands of DNA, but also through shared cultural norms. ( ② ) Language, for example, is 
usually vertical, since most people who speak Greek raise their children to speak Greek, 
too. ( ③ ) Such identities may reflect recessive genes, or values and preferences that a 
child does not share with his ancestors. ( ④ ) Criminal behavior is often horizontal; most 
criminals are not raised by gangsters and must invent their own deceptive character. ( ⑤ ) 
So are conditions such as autism and intellectual disability. * autism: 자폐증
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2014년도 7월 교육청 시험

[36~37] 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. 

36.

Competition can be extremely healthy. It drives us to improve, to reach and stretch. 
Without it, we would never know how far we could push ourselves. In the business world, it 
makes our economy prosper.
(A) The difference is this: Competition is healthy when you compete against yourself, or 
when it challenges you to reach and stretch and become your best. Competition becomes 
dark when you tie your self-worth into winning or when you use it as a way to place 
yourself above another.
(B) Later, Luke confronts the evil Darth Vader and learns about the “dark side” of the 
force. As Darth puts it, “You don’t know the power of the dark side.” So it is with 
competition. There is a sunny side and a dark side, and both are powerful.
(C) But there is another side to competition that isn’t so nice. In the movie Star Wars, Luke 
Skywalker learns about the positive energy shield called “the force,” which gives life to all 
things.

① (A) - (C) - (B)     ② (B) - (A) - (C)     ③ (B) - (C) - (A)      ④ (C) - (A) - (B)     ⑤ (C) - (B) - (A)

37.

Understanding networks can lead to innovative, nonobvious strategies. Randomly immunizing 
a population to prevent the spread of infection typically requires that 80 to 100 percent of 
the population be immunized.
(A) This strategy allows us to exploit a property of networks even if we cannot see the 
whole structure. Acquaintances have more links and are more central to the network than 
are the randomly chosen people who named them.
(B) To prevent measles epidemics, for example, 95 percent of the population must be 
immunized. A more efficient alternative is to target the hubs of the network, namely,
those people at the center of the network or those with the most contacts.
(C) However, it is often not possible to discern network ties in advance in a population 
when trying to figure out how best to immunize it. A creative alternative is to immunize the 
acquaintances of randomly selected individuals. [3점]

① (A) - (C) - (B)     ② (B) - (A) - (C)     ③ (B) - (C) - (A)     ④ (C) - (A) - (B)     ⑤ (C) - (B) - (A)
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[38~39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 것을 고르시오.

38.

All participants were equally accurate, but the older group responded more slowly.

Older adults often take longer to make a decision than young adults do. But that does not 
mean they are any less sharp. ( ① ) According to research at Ohio State University, the 
slower response time of older adults has more to do with prizing accuracy over speed. ( ② 
) In the study, published recently in the Journal of Experimental Psychology: General, 
college-age students and adults aged 60 to 90 performed timed tests of word recognition 
and recall. ( ③ ) When the researchers encouraged them to work faster, however, they were 
able to match the youngsters’ speed without significantly sacrificing accuracy. ( ④ ) “In 
many simple tasks, the elderly take longer mainly because they decide to require more 
evidence to make their decision,”　says coauthor Roger Ratcliff. ( ⑤ ) When an older mind 
faces a task that requires speed, he says, a conscious effort to work faster can often do 
the trick.

39.

On the other hand, many of the germs that live in or on the bodies of all animals, 
including humans, are not simply parasitic, but contribute important protective, stimulant or 
nutritional effects.

Whatever the benefit to a virus of a long-lived host, there is no guarantee that hosts have 
mechanisms for increasing longevity that the virus could exploit. Nor need host longevity be 
an advantage. ( ① ) The interests of the virus depend on its life-cycle strategy, and some 
viruses are only released on the death of the host. ( ② ) In fact, many parasites actually 
force their host to attack other potential hosts or to be killed or eaten so that the parasites 
are passed on. ( ③ ) In some ways, this can be seen as a form of life extension because 
removing the germs could have drastic, possibly fatal effects on the host. ( ④ ) Extreme 
examples include endosymbiont root fungi in orchids, or mitochondria in our cells. ( ⑤ ) 
Without them, orchids and humans would not survive. [3점]

* parasitic: 기생하는 **endosymbiont: 다른 생물의 체내에 공생하는
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2010년도 10월 교육청 시험
36. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

There stood a communal water pump, and he saw to it that the handle of that pump was 
removed, making it inoperable.

A British physician‒eographer used a famous map to confirm his theory that contaminated 
water was to blame for the transmission of cholera. ( ① ) When cholera struck England in 
1842, he mapped every new case and every death in London’s densely populated Soho 
district, marking each victim’s residence with a dot. ( ② ) Thousands of people fell ill in 
Soho, and more than 500 died. ( ③ ) His evolving map soon revealed a clustering of 
casualties around the intersection where Broad and Lexington Streets met. ( ④ ) Almost 
immediately, new cases in the area dropped to zero. ( ⑤ ) This result proved the role of 
water in the spread of cholera, pointing the way toward protection against it.

44. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은? [3점]

During a recent excavation in a very old city, archaeologists found the remains of a water 
well about four meters deep in a stratum, which dates back to about 9,000 years ago.

(A) One possible explanation is that sanitation was already a problem for the inhabitants of 
the settlement. As the settlement grew and population increased, the river might have been 
polluted with waste from livestock and people.
(B) Since the site is located near a large river, where inhabitants could get drinking water, 
it was a mystery as to why they needed a well.
(C) The well may have been part of an effort to prevent the polluted water from becoming a 
health hazard to the people of the community. Therefore it may be the oldest example of a 
well being dug to gain access to a clean water source. * stratum: 지층

① (A) ‒(C) ‒(B)                        ② (B) ‒(A) ‒(C)                     ③ (B) ‒(C) ‒(A) 
④ (C) ‒(A) ‒(B)                        ⑤ (C) ‒(B) ‒(A)

2011년도 10월 교육청 시험
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43. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

The settlement of the Latin American countryside took a different course from that of North 
America. The Latin Americans did not settle on individual family farms.

(A) The poorer people worked on these estates for low wages. They had little hope of ever 
owning their own land. The landowners also forced the native Indians to work on the 
haciendas and later imported millions of African slaves for the same purpose.
(B) That’s because the government did not promote private ownership of land. Wealthy men 
owned most of the land, from which they made huge estates, called haciendas.
(C) Many of the owners, however, cared little for developing their land or using it wisely. 
Their attitude kept the workers in poverty and the land undeveloped, and led many Latin 
American nations to remain agricultural.

① (A) - (C) - (B)                      ② (B) - (A) - (C)                    ③ (B) - (C) - (A) 
④ (C) - (A) - (B)                      ⑤ (C) - (B) - (A)

44. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

People themselves also differ in their ability to taste and in their tolerance of certain plants.

We know that the taste of a particular plant from one place may differ slightly from that of 
the same plant at another place. ( ① ) This is due to genetic variation usually manifested in 
differing characteristics. ( ② ) Thus, the degree of bitterness or mildness in many members 
of the mustard and daisy families can be attributed to natural genetic variations. ( ③ ) 
Chemical composition of the soil along with other substances added by man or animals can 
affect the taste of some plants, especially smaller herbs. ( ④ ) While some people enjoy 
dandelion leaves, others may hate them. ( ⑤ ) You might acquire a taste for certain edible 
plants only after experimenting with harvest and preparation techniques.
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2012년도 10월 교육청 시험

42. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

But the most powerful computer on the planet can’t drive a truck.

You can appreciate the power of your visual system by comparing human abilities to those 
of computers. ( ① ) When it comes to math, science, and other traditional “thinking” tasks, 
machines beat people ―no contest. ( ② ) Five dollars will get you a calculator that can 
perform simple calculations faster and more accurately than any human can. ( ③ ) With 
fifty dollars you can buy chess software that can defeat more than 99 percent of the 
world’s population. ( ④ ) That’s because computers can’t see, especially not in complex, 
ever‑hanging environments like the one you face every time you drive. ( ⑤ ) Tasks that 
you take for granted ―for example, walking on a rocky shore where footing is uncertain ―
are much more difficult than playing top‑level chess.

[43~44] 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.

43. 

When you have hope, you can absorb and accept bad news, responding and reacting it 
positively and creatively. Here is a good illustration.

(A) The next week he countered with his own ad. It read: “We’ve been in business only one 
week—all of our merchandise is brand‑new!” And he was off to a great start.
(B) A young man decided he would open a new store. When he was ready for the grand 
opening, a merchant down the street got nervous about this man taking some of his 
business away, so he ran an ad in the local paper.
(C) It read: “Do your local shopping here. We have been in business for 50 years!” The 
young man couldn’t believe it. How could he handle this competition?

① (A) - (C) - (B)                     ② (B) - (A) - (C)                     ③ (B) - (C) - (A)
④ (C) - (A) - (B)                     ⑤ (C) - (B) - (A)  
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44.

Napoleon Bonaparte demanded a secret communication system because he wanted 
something to enable his soldiers to converse silently and even in the dark.

(A) In the new system, any letter could be composed of six dots (1 to 3 in a column on the 
left, and 4 to 6 on the right) with a space between each letter. The letter M, for example, is 
composed of three raised dots, 1‑‑. The invention of Braille revolutionized communication 
for millions.
(B) So Barbier took his idea to the National Institute for the Blind in Paris. There, he met 
Louis Braille, who was blind. Braille fixed Barbier’s system, modifying it so that the finger 
didn’t have to travel to read a symbol.
(C) In response to the request, Charles Barbier developed a code of raised dots on paper 
that spelled out words. The military rejected it, however, because it was too hard to learn.

① (A) - (C) - (B)                     ② (B) - (A) - (C)                     ③ (B) - (C) - (A)
④ (C) - (A) - (B)                     ⑤ (C) - (B) - (A)  
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2013년도 10월 교육청 시험 A형

38. 다음 글에서 전체 흐름과 관계 없는 문장은?

Colored flags are used to give important signals to drivers during auto races. ①

The green flag means “start” or “continue,” and the yellow flag tells drivers to 
slow down and hold position. ②The red flag is a signal to stop, and when drivers 
see the black flag, they know they must pull into the pit area immediately. ③A 

blue flag with yellow stripes is used to tell slower drivers to pull over and allow 
the leaders to pass. ④Flags are used to represent organizations and groups of 
people such as the Olympic flag and the flag of the United Nations. ⑤The two 

favorite flags of most drivers are: the white flag, which means “one lap to go,” 
and the checkered flag, which means “you have reached the finish.”

39. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은? [3점]

Instead, look for watermelons that are symmetrical, are heavy for their size, and 
have a creamy yellow spot on the bottom.

When faced with a bunch of watermelons, all promising delicious juiciness inside, 
how do you know which one to pick? ( ① ) It is suggested that you skip the 

tapping and instead check the bottom of the watermelon. ( ② ) Tapping a 
watermelon like a bongo might work for some people, but it’s too subjective. ( ③ ) 
And there’s no agreement on whether a watermelon is supposed to sound “solid” 

or “tight” or even make a b-flat sound. ( ④ ) This is where the watermelon sat on 
the ground while it soaked up the sun at the farm. ( ⑤ ) If this spot is white or 
greenish, your watermelon may have been picked too soon and might not be as 

ripe as it should be.
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40. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

People with low self-esteem often see themselves as inadequate or feel like victims.

(A) If that is true of you, then you can combat those feelings by serving others. 
Making a difference ―even a small one ―in the lives of other people lifts one’s 
self-esteem.

(B) In addition to that, adding value to others makes them value you more. It 
creates a cycle of positive feeling from one person to another.
(C) They focus excessively on themselves. They can become self-protective and 

selfish because they feel that they have to be to survive.

① (A) - (C) - (B)                 ② (B) - (A) - (C)                ③ (B) - (C) - (A) 

④ (C) - (A) - (B)                 ⑤ (C) - (B) - (A)
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2013년도 10월 교육청 시험 B형

38. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은? [3점]

If you are intrigued by the emotional effect of movies through sensory input, try an 
experiment that researchers have performed in a more precise fashion.

(A) Afterwards watch it one more time with the sound turned on. Compare how this film 
sequence impacts you differently with and without music. Most likely you will find the 
difference in emotional impact amazing.
(B) If one of these scenes has minimal or no dialog but intense music, stop and rewind the 
tape to the beginning of the sequence, take a tenminute break, and watch it again, this time 
with no sound.
(C) Rent a movie that has affected you emotionally in the past. It might have made you feel 
joyful, openhearted, inspired, scared, or sad. As you watch the movie, notice which scenes 
affect you strongly.

① (A) - (C) - (B)                     ② (B) - (A) - (C)                     ③ (B) - (C) - (A)
④ (C) - (A) - (B)                     ⑤ (C) - (B) - (A)  

39. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

Instead, look for watermelons that are symmetrical, are heavy for their size, and have a 
creamy yellow spot on the bottom.

When faced with a bunch of watermelons, all promising delicious juiciness inside, how do 
you know which one to pick? ( ① ) It is suggested that you skip the tapping and instead 
check the bottom of the watermelon. ( ② ) Tapping a watermelon like a bongo might work 
for some people, but it’s too subjective. ( ③ ) And there’s no agreement on whether a 
watermelon is supposed to sound “solid” or “tight” or even make a b-flat sound. ( ④ ) This 
is where the watermelon sat on the ground while it soaked up the sun at the farm. ( ⑤ ) If 
this spot is white or greenish, your watermelon may have been picked too soon and might 
not be as ripe as it should be.
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2014년도 10월 교육청 시험

[37 ~ 38] 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.

37.

Years ago, when I was working with dogs in Europe, I witnessed an intelligence test given 
by some of the foremost trainers and behaviorists in the field.
(A) I, on the other hand, concluded the poodle was the smartest of all the dogs tested. 
When confronted with this obstacle, he analyzed the situation and chose the easiest way of 
achieving the goal of getting to the other side of the wall ― he simply walked around it!
(B) The test involved having various breeds of dog negotiate a high wall in order to get to 
the other side. Dog after dog jumped over the wall. Finally, it was the standard poodle’s 
turn. The poodle stood there for a moment, as if to size up the obstacle in front of him.
(C) Then he casually walked around the wall and joined his fellow competitors on the other 
side of it. These so-called experts concluded that the poodle had failed the test ― he hadn’t 
possessed the intelligence to jump over it.

① (A) - (C) - (B)                     ② (B) - (A) - (C)                     ③ (B) - (C) - (A)
④ (C) - (A) - (B)                     ⑤ (C) - (B) - (A)  

38.

Evidence of using food to heal dates back thousands of years. Ayurveda, the traditional 
healing art of India, is a perfect example.
(A) It often shows up as a spice in Asian cuisine. Aside from its unique flavor, turmeric 
may also prove a helpful treatment for people with arthritis, Alzheimer’s disease, and some 
forms of cancer.
(B) This healing art borrows many of its ideas from Hinduism, incorporating multiple 
therapies that include herbs, massage, and meditation. Ayurvedic practitioners may even go 
so far as to try a new food to heal. One medicinal food from Ayurveda may be familiar to 
you: turmeric.
(C) Although the research evidence isn’t yet conclusive, it certainly is highly recommended 
for these conditions. My own experience of using turmeric as an antiinflammatory has been 
extraordinarily positive.
* antiinflammatory:
소염제

① (A) - (C) - (B)                     ② (B) - (A) - (C)                     ③ (B) - (C) - (A)
④ (C) - (A) - (B)                     ⑤ (C) - (B) - (A)  
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39. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳은?

Traits, on the other hand, are more stable characteristics that endure across time.

Psychologists make the distinction between dispositions, or traits, and states, or momentary 
feelings. ( ① ) Think of some moments of happiness or despair you have experienced, such 
as when you won a prize or got an exciting job offer, or when somebody died. ( ② ) These 
experiences are states of happiness or sadness; they reflect the transient highs and lows of 
everyday life. ( ③ ) These are the emotional styles or ways of thinking that remain fairly 
steadfast across our lives. ( ④ ) Mary has “Marylike” characteristics that remain fairly 
stable, just as Dave stays “Davelike” under all circumstances. ( ⑤ ) Cheerful, happy babies 
tend to become adventurous, outgoing children who tend to become extroverted, sociable 
adults.
* transient: 일시적인
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2010년 2011년 2012년 2013년 
A형

2013년 
B형 2014년

7월 ⑤② ③② ③⑤ ④③③ ④③ ⑤③③③

10월 ④② ②④ ④③⑤ ④④④ ⑤④ ③②③

Joe T <약점공략-순서유형>

교육청(2010 년~2014 년) 7,10 월편 정답
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2010년도 7월 교육청 시험 해설

40. [출제의도] 주어진 문장의 위치 파악하기

[해석] 당신이 진한 커피나 차 한 잔과 함께 하루를 시작한다면, 당신만 그런 것이 아니다. 미
국인들은 매일 5억 3천만 잔의 커피에 해당하는 카페인을 섭취하고 있다. 카페인은 기분을 바
꿔주는, 세상에서 가장 유명한 물질이며, 또한 가장 오래된 것 중의 하나이기도 하다. 고고학
자들에 따르면 인간은 석기시대 이후로, 카페인이 포함된 식물을 이용해 음료를 만들었다. 카
페인은 에너지를 공급함으로써 당신이 깨어있도록 해주는 것이 아니라, 오히려 그것은 당신의 
몸을 속여서 피곤하다고 생각하지 못하게 한다. 당신의 뇌가 피곤하고 쉬고 싶을 때, 뇌는 아
데노신이라는 화학 물질을 배출한다. 아데노신은 수용체로 불리는 특별한 세포로 이동하여, 
뇌를 자극하는 화학 물질의 분비를 방해한다. 카페인은 이 과정을 모방해서 감각기관을 막고, 
아데노신의 흐름을 방해한다. 그 결과 당신의 뇌는 쉬고 싶다는 신호를 받지 못하게 되고, 계
속해서 자극 물질을 축적하게 된다. 
[해설] 카페인이 우리 몸에 작용하여 피곤함을 느끼지 못하게 하는 과정을 설명하는 글이다.
[어구] equivalent ～에 상응하는  counteract 방해하다

43. [출제의도] 글의 적절한 순서 파악하기

[해석] 20년 전만 해도, 여러분은 의학 정보를 찾는 하나의 주요한 통로(의사)만 있었다. (B)
하지만 오늘날은 상황이 달라졌다. 약간의 증상만 있어도 우리는 인터넷으로 달려가 증상을 
입력하고 좋은 웹사이트에서 풍부한 의학 정보를 얻게 된다. (A) 이런 식으로 인터넷을 활용
하는 것은 많은 장점이 있다. 의학 문헌 전체에 접근할 수 있을 뿐 아니라 환자 모임을 통해 
지지와 유대감을 얻게 된다. (C) 하지만 많은 의사들은 온라인상의 의료 정보의 유용성에 대
해 회의적이다. 그들은 웹에만 의존하는 환자들이 중요한 사실을 놓치고 문제를 잘못 처리하
게 되는 것을 염려한다. 심각한 문제가 진행될 때는 의사의 안내가 필수적이다. 

[어구] literature 문헌  symptom 증상 
[해설] 해석 참조 
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2011년도 7월 교육청 시험 해설

43. [출제의도] 글의 순서 배열하기
[해석] 어떤 이들은 그들 앞에 장애물이 놓이자마자 포기한다. 어떤 이들은 수년간의 좌절과 
실패 후에도 끈질기게 계속해서 목표를 추구한다. 이들 사이에 주된 차이는 무엇일까? 그것은 
능력이 아니다. 그것은 사실상 그들의 통제력이다. 목표를 선택하고 그것들을 추구하는 것에 
책임이 없다고 느끼는 사람들은 결과가 제멋대로라고 믿는 경향이 있다. 그들에게 얼마나 열
심히 노력하는 가는 중요하지 않으며, 성공하는 것은 복권에 당첨되는 것과 같다. 이러한 태
도라면 열심히 일하거나 목표에 전념하는 것은 말이 되지 않는다. 반대로 인내하는 사람들은 
단지 그들의 목표를 추구하는 것뿐만이 아니라 목표를 설정하는 것에 대해서도 그들이 궁극적
으로 책임이 있다는 것을 인식한다. 당신에게 제어하는 능력이 있을 때, 당신이 하는 일은 의
미를 갖게 되고 포기하는 것은 그다지 매력적으로 보이지 않게 될 것이다.
[해설] 해석 참조  

44. [출제의도] 주어진 문장 삽입하기
[해석] 타이 사람들은 생애 최고의 물싸움을 즐긴다. 4월은 태국에서 가장 더운 시기이다. 3일 
동안의 축제 기간 동안 모든 사람들은 자신들이 경험할 물세례에 대비해서 옷을 입는다. 이 
시기는 카메라나 전자기기들을 가지고 다녀서는 안 되며 디자이너가 제작하거나 드라이크리닝 
해야 하는 옷을 입을 시기도 아니다. (심지어 기차 안으로도 언제든 젖은 물체가 날아올 수 
있기 때문에 기차의 승객들도 안전하지 않다.) 열린 창문으로 승객 중 한명에게 물풍선이 날
아올 가능성이 있다. 그 거리에는 준비되지 않은 사람들에게 던질 물 양동이를 들고 있는 사
람들이 줄지어 서 있다. 다른 사람들은 호스로 지나가는 행인에게 물을 뿌리려 한다. 왜냐하
면 호스에서는 끊임없이 물이 나오고, 이로 인해 자전거와 오토바이를 타고 있는 사람들에게 
더 쉽게 물을 뿌릴 수 있기 때문이다. 그렇지만 물풍선으로 가득 채워진 픽업트럭이 거리를 
돌아다니며 잽싸게 도망가기 전에 물 맞을 희생자를 찾고 있기 때문에, 거리를 따라 서 있는 
그러한 난봉꾼들은 경계를 하는 편이 낫다.
[해설] 해석 참조
[어구] douse 물을 끼얹다  hurtle 돌진하다
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2012년도 7월 교육청 시험 해설

43. [출제의도] 문장이 들어갈 위치 찾기

[해석] 고대의 가장 위대한 문명들 중의 하나는 이집트 문명이었다. 고대 이집트인들은 과학의 
여러 영역에서 우월했는데, 그 중 하나는 치과학이었다. 그러나 그들은 문화 때문에 다소 독

특한 종류의 치아 문제로 고통을 받았다. 이집트인의 기본 식단은 주로 식물과 빵으로 구성되
어 있었다. 그 빵은 거친 돌 위에서 갈린 곡물로 만든 것이었고, 이 때문에 작은 돌멩이들이 
빵 반죽에 들어가게 되었다. 이것은 거칠고 씹기 어려운 빵을 만들었다. 그들의 식단에서 식

물들 또한 그것들이 사는 지역이 모래투성이였기 때문에 매우 껄끄러웠다. 이러한 두 가지 조
건의 결합은 치아의 광범위한 마모와 마멸을 가져왔고, 치아신경이 노출되는 문제를 야기했
다.

[해설] 해석 참조
[어구] dentistry 치과학 abrasion 마멸

44. [출제의도] 글의 순서 연결하기

[해석] 사회화의 많은 부분은 지식과 가치들을 전달하려는 고의적인 의도 없이 사람과의 상호

작용과정에서 발생한다. (C) 예를 들면, 네 살짜리 아이가 대화중인 두 선생님께 다가가서 
“Jones 선생님, Jones 선생님, 저 좀 보세요!”라고 흥분한 상태로 이야기한다. 한 선생님은 
“Sally야, 방해하지 마렴. 우린 지금 이야기 중이잖아.”라고 말한다. (B) 이후 같은 날 아침에 

Sally와 그녀의 친구 Tanya는 레고를 하면서 노느라 바쁘다. Sally는 Tanya에게 그 조각들
을 끼워 맞추는 것을 설명해주고 시범을 보이고 있다. Jones 선생님이 블록놀이 코너로 와서
는 “얘들아, 지금 하고 있는 걸 멈추렴. 와서 Rene이 학교에 뭘 가져왔는지 좀 보렴.”이라고 

끼어든다. (A) Sally가 그 날 아침에 경험한 상호작용을 통해서 받은 메시지는 아이들은 어른
들 대화에 끼어들면 안 되지만 어른들은 아이들의 대화에 끼어들어도 된다는 것일 가능성이 
높다. 그 예는 의도하지 않은 사회화과정이 사람들 사이에서의 상호작용에 참여하거나 상호작

용을 관찰한 결과일 수 있다는 것을 보여준다.
[해설] 해석 참조
[어구] socialization 사회화 impart 전달하다
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2013년도 7월 교육청 시험 A형 해설

38. [출제의도] 글의 전체 흐름 파악하기

[해석] 하버드 대학의 많은 학생들은 돋보이려고 너무 조바심이 난 나머지, 깊이 숙고할 시간

을 갖지 않고, 충분히 성장하기도 전에 최고치에 이르기 위해 애를 쓴다. 이를 인식한 Harry 
R. Lewis 학장은 신입생들에게 속도를 늦추고, 하는 일을 줄임으로써 대학으로부터 더 많은 
것을 얻으라고 말한다. Lewis 학장은 학생들의 성취를 저하시키려는 것이 아니라, 그들이 여

가와 혼자 있기 위한 시간을 갖는다면 필요한 노력을 지속적으로 할 수 있다고 주장한다. 그
는 학생들이 자기가 하는 일을 왜 하는지에 대해 생각할 시간이 없을 정도로 너무 많은 활동
들로 일과를 꽉 채우지 않도록 경고한다. (그는 학생들이 한 번에 하는 일이 많을수록 그들의 

학교생활이 성공적일 것이라고 주장한다.) 선택할 수 있는 자유가 가장 중요한데, 이것은 학생
들이 꽉 짜여 있지 않은 시간과 융통성을 고려할 때만 유지될 수 있다고 그는 주장한다.
[해설] 해석 참조

39. [출제의도] 주어진 문장 삽입하기

[해석] 정체성의 세대 간 계승으로 인해, 대부분의 아이들은 그들의 부모와 최소한 몇 가지 특

징을 공유한다. 이러한 것이 수직적 정체성이다. 고유한 특성과 가치는 DNA뿐만 아니라 함께 
경험한 문화 규범을 통해서 세대에 걸쳐 부모로부터 아이에게 전달된다. 예를 들어, 언어는 
대개 수직적인데 왜냐하면 그리스어를 말하는 대부분의 사람들은 그들의 아이들도 그리스어를

말하도록 키우기 때문이다. (하지만, 어떤 사람들은 그들의 부모와는 다른 선천적 혹은 후천적
특성을 갖는 경우가 종종 있어서 정체성은 그들의 또래 집단으로부터 습득되었을 것인데, 이
는 수평적 정체성이라 불려진다.) 그러한 정체성은 아이가 그의 조상들과 공유되지 않는 열성 

유전자, 가치관, 선호도를 반영할 수 있다. 범죄 행동은 종종 수평적인데, 이는 대부분의 범죄
자들이 폭력배에게 길러진 것은 아니므로 그들이 스스로 범죄적 특성을 만들어 냈을 것이다. 
자폐증이나 지적 장애 역시 그런 경우이다.

[해설] 해석 참조
[어휘] transmission 계승, 전달 recessive gene 열성유전자
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40. [출제의도] 글의 순서 파악하기

[해석] 당신은 이 간단한 방법을 따르면 집에서 비누를 만들 수 있습니다. 필요한 재료는 비누
베이스, 에센셜 오일, 비누 제작 틀입니다. 먼저 비누 베이스를 작은 덩어리로 자르세요. (B) 
다음으로 그것들을 내열 유리 그릇에 넣으세요. 이 그릇을 전자레인지에 넣고 45초 동안 가열

하세요. (C) 그러고 나서, 모든 덩어리가 완전히 녹을 때까지 비누를 잘 저으세요. (A) 그 후, 
비누를 틀에 붓고, 그것이 완전히 굳을 때까지 두세요. 이제 여러분은 자신만의 특별한 비누
를 갖게 됩니다!

[해설] 해석 참조
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2013년도 7월 교육청 시험 B형 해설

38. [출제의도] 글의 순서 파악하기

[해석] 1985년, Garold Stasser와 William Titus는 집단의 결정이 개인의 결정보다 더 유익
하다는 생각에 이의를 제기하는 연구를 수행했다. (C) 그들은 4명으로 된 몇몇 집단을 구성하

고 그들로 하여금 의사 결정을 하도록 요청했다. 그 학자들은 같은 정보를 주고, 집단 결정과 
개개인이 내린 결정의 질을 비교했다. (A) 모든 팀원이 같은 정보를 가지고 있을 때, 집단 결
정은 각 개인 결정의 질을 능가했다. 한편, 그러고 나서 학자들은 팀원 각자가 팀 동료들이 

갖지 않은 고유한 정보를 가지고 있는 상황을 만들어냈다. (B) 최적의 결정을 도출하기 위해
서 팀원 각자가 개인적으로 가진 정보를 서로 공유해야만 했다. 결과는 집단 구성원 모두가 
모여 토론을 하기 이전에 각 개인이 내린 결정보다 토론 이후에 내린 집단 결정이 더 좋지 않

은 경우가 더 많았다는 것을 보여 줬다. 학자들은 집단이 개인별로 가진 정보를 모두 드러내
는 데 어려움이 있었을 것으로 추측했다.
[해설] 해석 참조

[어휘] surmise 추측하다

39. [출제의도] 주어진 문장 삽입하기

[해석] 정체성의 세대 간 계승으로 인해, 대부분의 아이들은 그들의 부모와 최소한 몇 가지 특
징을 공유한다. 이러한 것이 수직적 정체성이다. 고유한 특성과 가치는 DNA뿐만 아니라 함께 

경험한 문화 규범을 통해서 세대에 걸쳐 부모로부터 아이에게 전달된다. 예를 들어, 언어는 
대개 수직적인데 왜냐하면 그리스어를 말하는 대부분의 사람들은 그들의 아이들도 그리스어를
말하도록 키우기 때문이다. (하지만, 어떤 사람들은 그들의 부모와는 다른 선천적 혹은 후천적

특성을 갖는 경우가 종종 있어서 정체성은 그들의 또래 집단으로부터 습득되었을 것인데, 이
는 수평적 정체성이라 불려진다.) 그러한 정체성은 아이가 그의 조상들과 공유되지 않는 열성 
유전자, 가치관, 선호도를 반영할 수 있다. 범죄 행동은 종종 수평적인데, 이는 대부분의 범죄

자들이 폭력배에게 길러진 것은 아니므로 그들이 스스로 범죄적 특성을 만들어 냈을 것이다. 
자폐증이나 지적 장애 역시 그런 경우이다.
[해설] 해석 참조

[어휘] transmission 계승, 전달 recessive gene 열성유전자
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2014년도 7월 교육청 시험 해설

36. [출제의도] 글의 순서 배열하기

[해석] 경쟁은 매우 건전할 수 있다. 그것은 우리가 발전하고, (목표에) 도달하고 더 나아가도
록 한다. 그것이 없다면, 우리는 얼마나 멀리까지 우리를 밀어부칠 수 있는지 결코 알 수 없

다. 사업의 세계에서는, 그것이 우리의 경제를 번영하게 한다. (C) 그러나 그렇게 좋지만은 않
은 경쟁의 또 다른 면이 있다. 영화 Star Wars에서, Luke Skywalker는 모든 것에 생명을 
불어넣는 “the force”라는 긍정적인 에너지 방어막에 대해 배운다. (B) 후에, Luke는 사악한 

Darth Vader를 만나서 the force의 “어두운 측면”에 대해서 배운다. Darth가 표현한 대로, 
“너는 어두운 면의 힘을 모른다.” 경쟁도 마찬가지다. 밝은 측면과 어두운 측면이 있고, 둘 다 
강력하다. (A) 차이점은 이와 같다: 당신이 당신 자신과 경쟁할 때, 또는 경쟁이 당신으로 하

여금 (목표에) 도달하고 더 나아가도록 하여 당신의 최상의 상태가 되도록 할 때 경쟁은 건전
하다. 당신이 당신의 자존감을 이기는 것에 결부시킬 때, 또는 당신 자신이 다른 사람보다 앞
서기 위한 방법으로 그것을 사용할 때 경쟁의 어두운 측면이 드러나게 된다.

[해설] 해석 참조
[어휘] prosper 번영하다

37. [출제의도] 글의 순서 배열하기

[해석] 관계망을 이해하는 것은 혁신적이고 명시적이지 않은 전략들을 이끌어낼 수 있다. 감염
의 확산을 막기 위해서 무작위로 집단을 면역시키는 것은 보통 인구의 80에서 100퍼센트를 

면역시킬 것을 요구한다. (B) 예를 들어, 홍역의 확산을 예방하기 위해서는, 인구의 95퍼센트
가 면역되어야만 한다. 보다 효과적인 대안은 관계망의 중심을 목표로 하는 것인데, 다시 말
하면, 관계망의 중심에 있는 사람들이나 또는 접촉이 가장 많은 사람들이다. (C) 하지만, 어떻

게 하면 그 집단을 가장 잘 면역화 시킬 수 있을지 알아내려고 할 때, 그 집단의 관계망 연결
을 사전에 파악하는 것이 종종 불가능하다. 창의적인 또 하나의 대안은 무작위로 선발된 사람
들의 지인들을 면역화 시키는 것이다. (A) 이 전략은 우리가 그 전체 구조를 볼 수 없을지라

도 관계망의 특성을 이용할 수 있게 해 준다. 지인들은 더 많은 연결고리를 가지고 있고 그들
을 지명한 무작위로 선발된 사람들보다 관계망에서 좀 더 중심에 있다.
[해설] 해석 참조

[어휘] measles 홍역 discern 파악하다, 식별하다
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38. [출제의도] 주어진 문장 삽입하기

[해석] 나이든 성인은 종종 젊은 성인들보다 결정을 내리는 데 더 많은 시간이 걸린다. 그러나 
그것은 그들이 덜 똑똑하다는 것을 의미하지는 않는다. 오하이오 주립대학의 연구에 따르면, 
나이든 성인의 더 느린 반응 시간이 속도보다 정확성을 더 중요하게 여기는 것과 관련이 있

다. Journal of Experimental Psychology: General에 최근 게재된 그 연구에서, 대학생 나
이 정도의 학생들과 60~90세 나이의 성인들이 단어인지와 기억에 대 한 시간제한을 둔 시험
을 치렀다. 모든 참가자들이 동등하게 정확했지만 더 나이든 그룹은 더 느리게 반응했다. 하

지만 그 연구자들이 그들에게 더 빨리 하도록 장려했을 때 그들은 정확성을 상당히 희생시키
지 않으면서도 젊은 사람들의 속도를 따라갈 수 있었다. “많은 단순한 과업들에서, 나이든 사
람들은 주로 그들의 결정을 내리기 위해 더 많은 증거들을 요구하려고 마음먹기 때문에 더 많

은 시간이 걸린다.”라고 공동저자인 Roger Ratcliff는 말한다. 그가 말하기를, 어떤 나이든 사
람 이 속도를 요구하는 과업에 직면했을 때, 더 빨리 하려는 의식적인 노력이 종종 효과를 낼 
수 있다.

[해설] 해석 참조
[어휘] recognition 인지, 인식

39. [출제의도] 주어진 문장 삽입하기

[해석] 수명이 긴 숙주가 바이러스에게 끼치는 이득이 무엇이든 간에, 바이러스가 이용하는 수

명을 늘리는 방법들을 숙주가 가지고 있다는 보장이 없다. 또한 숙주의 장수가 어떤 이득이 
될 필요도 없다. 바이러스의 관심사는 생명 순환 전략에 의존하고 어떤 바이러스들은 오직 숙
주가 죽었을 때만 빠져나온다. 사실, 많은 기생생물들은 사실상 자신들이 옮겨질 수 있도록 

그들의 숙주로 하여금 다른 잠재적인 숙주를 공격하거나, 죽임을 당하게 하거나, 혹은 잡아먹
히도록 만든다. 반면에, 사람을 포함한 모든 동물들의 몸 속 혹은 몸 위에서 사는 많은 세균
들은 단지 기생생활을 하는 것뿐만 아니라 중요한 방어적, 자극하는, 혹은 영양상의 영향에 

기여한다. 어떤 면에서 이것은 생명연장의 형태로 보일 수 있는데 그 세균들을 제거하는 것이 
숙주에게는 극단적이고, 아마도 치명적인 영향을 줄 수 있기 때문이다. 극단적인 예로 난초 
속에서 공생하는 뿌리균들이나 우리의 세포 속에 있는 미토콘드리아가 있다. 그것들이 없으면 

난초와 사람은 생존할 수 없을 것이다.
[해설] 해석 참조
[어휘] longevity 장수
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2010년도 10월 교육청 시험 해설

36. 한 영국의 내과 의사이자 지리학자가 오염된 물이 콜레라 전염의 원인이라는 그의 이론을 입증하
기 위해 유명한 지도를 사용했다. 1842년에 콜레라가 영국을 강타했을 때, 그 희생자의 거주지를 
점으로 표시하면서, 런던의 인구 밀집지역인 소호에서 발생하는 모든 새로운 사례와 사망을 지도
에 나타내었다. 소호에서는 수 천 명의 사람들이 병에 걸렸고 500명 이상이 죽었다. 그의 변화하
는 지도는 곧 Broad거리와 Lexington거리가 만나는 교차점 주변에서 사상자 집단을 보여 주었
다. 그곳에는 공동 물 펌프가 있었고, 그는 그 펌프의 손잡이를 제거해서 확실히 작동되지 못하도
록 했다. 거의 즉각적으로 그 지역에서의 새로운 사례는 사라지게 되었다. 이 결과는 콜레라의 확
산에서 물의 역할을 입증해서 그것을 예방하는 방향을 제시했다.

44. 아주 오래 된 도시에서 최근에 발굴을 하는 동안에, 고고학자들은 지층 속 4미터 정도의 깊이에서 
우물 유적을 발견했는데, 그것은 연대가 9,000년 전까지 거슬러 올라가는 것이었다. (B) 그 지점은 
주민들이 마실 물을 구할 수 있는 거대한 강과 가까운 곳에 위치해 있었으므로, 그것은 그들이 왜 
우물을 필요로 했는지에 관해서는 미스터리였다. (A) 한 가지 가능한 설명은 이미 그 곳에 거주하는 
주민들에게 위생이 문제가 되었다는 것이다. 부락의 규모가 커지고 인구가 증가함에 따라, 가축이
나 사람들로부터 나온 쓰레기로 인해 강이 오염되었을지도 모른다. (C) 그 우물은 오염된 물이 지역
사회 사람들에게 건강에 대한 위험이 되는 것을 막기 위한 노력의 일부였을 것이다. 그러므로 그것
은 깨끗한 급수 공급원을 얻기 위해서 우물을 판 가장 오래 된 예가 될 것이다.
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2011년도 10월 교육청 시험 해설

43. [출제의도] 글의 순서 파악
[해석] 라틴 아메리카 시골 지역의 정착 방식은 북미의 정착 방식과는 다른 과정을 거쳤다. 라틴 아
메리카 사람들은 개별적 가족농장으로 정착하지 않았다.  (B) 그것은 정부가 토지 사유화를 장려하지 
않았기 때문이다. 부유한 사람들이 대부분의 토지를 소유했고 그것으로부터 하시엔다로 불리는 거대
한 경작지를 형성했다. (A) 보다 가난한 사람들은 저임금으로 이러한 경작지에서 일했다. 그들에게는 
자신의 땅을 소유하겠다는 희망이 거의 없었다. 또한 토지소유주들은 토착 인디언들이 하시엔다에서 
강제적으로 일하게 했으며 나중에는 같은 목적으로 수백만 명의 아프리카 노예들을 데려왔다. (C) 그
렇지만 많은 지주들은 토지를 개발하거나 그것을 유용하게 사용하는 것에 대해 관심이 거의 없었다. 
이런 그들의 태도로 인해 노동자들은 계속 가난했고 토지는 전혀 개발되지 못했으며, 많은 라틴 아
메리카의 국가들이 농업국가로 남아있게 되었다.

44. [출제의도] 문장 위치 파악
[해석] 우리는 어떤 장소의 특정 식물의 맛이 다른 장소에 있는 같은 식물의 맛과 미묘한 차이가 있을 
수 있다는 것을 알고 있다. 이는 대개의 경우 다양한 특징으로 나타나는 유전자 변형 때문이다. 그래서 
수많은 겨자와 데이지 과(科)가 지니는 쓴맛 또는 부드러운 맛의 정도는 자연적 유전자 변이에 기인한 
것일 수 있다. 인간과 동물에 의해 첨가된 다른 물질뿐 아니라 토양의 화학적 성분은 특정한 종류의 
식물, 특히 보다 작은 식물의 맛에 영향을 미칠 수 있다. 사람들도 역시 맛을 느끼는 능력과 특정 식물
(의 맛)을 견디어내는 정도가 다르다. 어떤 사람들은 민들레 잎을 좋아할 수 있지만 다른 사람들은 싫
어할 수 있다. 아마도 수확과 (요리)준비 방법을 여러 방식으로 시도해 본 후에야 특정 식용 식물에 대
한 미각을 얻을 수도 있을 것이다.
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2012년도 10월 교육청 시험 해설

42. [출제의도] 문장의 위치를 파악한다.
인간의 능력을 컴퓨터의 능력과 비교해 봄으로써 시각 체계의 능력을 이해할 수 있다. 수학, 과학 그리

고 그 외에 다른 전통적인 ‘사고를 필요로 하는’ 일에서, 기계는 사람을 이기며, 전혀 상대가 안 된다. 5달
러만 있으면 단순한 계산을 그 어떤 인간보다도 더 빠르고 정확하게 수행할 수 있는 계산기를 살 수 있다. 
50달러만 있으면 전 세계 인구 중 99퍼센트가 넘는 사람들을 이길 수 있는 체스 소프트웨어를 살 수 있
다. 하지만 지구상에서 가장 강력한 컴퓨터도 트럭을 운전하지는 못 한다. 그것은 컴퓨터가, 특히 운전을 
할 때마다 직면하는 환경처럼 복잡하고 계속 변하는 환경에서는 볼 수 없기 때문이다. 예를 들어, 발 디딜 
곳이 불확실한 바위로 이루어진 해안 위로 걷는 것 같은 당연하게 생각되는 일이 최고 수준의 체스를 하
는 것보다 훨씬 더 어렵다.

43. [출제의도] 글의 순서를 파악한다.

44. [출제의도] 글의 순서를 파악한다.
Napoleon Bonaparte는 자신의 병사들이 소리 없이, 그리고 어두운 곳에서도 대화할 수 있게 해 

줄 어떤 것을 원했으므로, 비밀 통신 시스템을 요구했다. (C) 그 요구에 응하여, Charles Barbier는, 
단어의 철자를 나타내는 종이 표면의 도드라진 점으로 이루어진 암호를 개발했다. 그러나 배우기가 너
무 어려웠기 때문에 군에서는 그것을 거부했다. (B) 그래서 Barbier는 자신의 아이디어를 파리에 있는 
국립 시각 장애인 협회로 가져갔다. 거기서 그는 Louis Braille을 만났는데, 그는 시각장애인이었다. 
Braille은 기호를 해독하기 위해서 손가락을 이리저리 옮길 필요가 없도록 Barbier의 체계를 수정하여 
그것을 고쳤다. (A) 그 새로운 체계에서는, 어떤 글자든지 여섯 개의 점(왼쪽 줄에 1번부터 3번까지, 
오른쪽 줄에 4번부터 6번까지)으로 구성할 수 있었으며 각 글자 사이에 공간을 두었다. 예를 들어, 글
자 M은 세 개의 도드라진 점 1, 3, 4번으로 이루어진다. Braille 점자의 발명은 수많은 사람들의 의사
소통에 획기적인 변화를 일으켰다.
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2013년도 10월 교육청 시험 A형 해설

38. [출제의도] 글의 흐름과 무관한 문장을 파악한다.

색기(色旗)는 자동차 경주 동안 운전자들에게 중요한 신호를 보내는 데 사용된다. 녹색기는 
‘출발’ 또는‘계속’을 의미하고, 황색기는 운전자들에게 속도를 줄이고 (자기) 위치를 유지하라
고 말한다. 적색기는 멈추라는 신호이고, 운전자들이 흑색기를 보면 그들은 피트(코스 도중에 

설치한 급유나 정비를 하는 곳으로 즉시 차를 대야 한다는 것을 안다. 노란색 줄무늬가 있는 
청색기는 더 느린 운전자들에게 차를 한쪽에 대고 선두에 있는 운전자들이 앞질러가게 해주라
고 지시하는 데 이용된다. (올림픽기와 국제연합기와 같은 깃발들은 조직이나 사람들의 집단

을 나타내기 위해 사용된다.) 대부분의 운전자들이 가장 좋아하는 두 개의 깃발은 ‘한 바퀴 남
았음’을 의미하는 백색기와 ‘결승선에 도착했음’을 의미하는 체크무늬 깃발이다.
immediately 즉시

39. [출제의도] 주어진 문장이 들어갈 위치를 파악한다.

속에 모두 맛있는 과즙이 들어 있을 것 같은 한 무더기의 수박을 볼 때, 어떤 것을 골라야 할

지 여러분은 어떻게 아는가? 두드려 보는 것을 생략하고 대신에 수박의 밑바닥을 확인해 볼 
것이 권장된다. 봉고(라틴 음악에서 무릎 사이에 두 개를 끼우고 손가락으로 치는 북)처럼 수
박을 두드리는 것이 어떤 사람들에게는 효과가 있을지도 모르지만 그것은 너무나 주관적이다. 

그리고 수박이 ‘단단’하거나 ‘꽉 찬’ 소리가 나야 하는지, 아니면 심지어 b플랫(내림나 음)의 
소리를 내야 하는지에 대한 일치된 의견은 없다. 대신에 좌우가 균형을 이루고 크기에 비해 
무거우며 밑바닥에 크림 빛을 띠는 노란색 반점이 있는 수박을 찾아라. 이것은 농장에서 수박

이 햇빛을 흡수하는 동안 그것이 지면 위에 닿아있던 곳이다. 만약 이 점이 흰색이나 녹색 빛
을 띤다면, 당신의 수박은 너무 일찍 수확이 되었을지도 모르고, 아마도 익어야 할 만큼 익지 
않았을 수도 있다.

symmetrical 대칭적인
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40. [출제의도] 글의 순서를 파악한다.

자존감이 낮은 사람은 흔히 스스로를 부족하다고 보거나 피해자처럼 느낀다. (C) 그들은 과도
하게 자신에게 집중한다. 그들은 살아남기 위해 그래야 한다고 느끼기 때문에 자기방어적이거
나 이기적이게 될 수도 있다. (A) 만약 여러분도 그러하다면, 다른 사람에게 봉사함으로써 그

러한 감정에 맞서 싸울 수 있다. 다른 사람의 삶에서 심지어 작은 것이라도 변화를 가져다주
는 것은 사람들의 자존감을 높여준다. (B) 그뿐만 아니라 다른 사람들에게 가치를 더해주는 
것은 그들이 당신을 더 높이 평가하도록 해 준다. 그것은 한 사람에서 다른 사람으로 이어지

는 긍정적인 감정의 순환 고리를 만들어 낸다.
inadequate 부족한
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2013년도 10월 교육청 시험 B형 해설

38. [출제의도] 글의 순서를 파악한다.

감각 입력을 통한 영화의 감정적 효과가 여러분에게 흥미를 불러일으킨다면, 연구원들이 더 
정밀한 방식으로 수행했던 실험을 시도해 보라. (C) 과거에 여러분에게 정서적으로 영향을 미
쳤던 영화를 빌려라. 그 영화는 여러분에게 즐겁거나, 다정스럽거나, 영감을 받거나, 무서워하

거나, 또는 슬프게 느끼도록 했을 것이다. 그 영화를 볼 때, 어떤 장면들이 여러분에게 강하게 
영향을 미치는지에 주목하라. (B) 이러한 장면들 중 하나에 대사가 아주 적거나 전혀 없지만 
강렬한 음악이 있다면, 테이프를 멈추고 그 장면의 처음으로 되감아서, 10분간 휴식을 취하고 

다시 그 장면을 보되, 이번에는 사운드 없이 보라. (A) 그런 다음 사운드를 켜놓고 한번 더 
그 장면을 보라. 이 영화의 장면이 음악이 있을 때와 없을 때 여러분에게 어떻게 다르게 영향
을 미치는지를 비교하라. 여러분은 분명 감정적인 영향의 차이가 매우 크다는 것을 알게 될 

것이다.
intrigue 흥미를 자아내다 sensory 감각의 precise 정밀한

39. A형 39번 참조
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2014년도 10월 교육청 시험 해설

37. [출제의도] 글의 순서를 파악한다.

여러 해 전에 유럽에서 개에 대해 연구하고 있었을 때에 나는 그 분야의 몇몇 일류 조련사와 
행동주의 심리학자들에 의해 행해지는 지능 검사를 목격했다. (B) 그 검사는 다양한 종들의 
개로 하여금 반대편으로 가기 위해서 높은 벽을 통과하게 하는 것을 포함했다. 개들이 차례로 

벽을 뛰어넘었다. 마침내 스탠더드 푸들의 차례가 되었다. 푸들은 마치 자기 앞에 있는 장애
물을 가늠해 보는 듯이 잠시 거기에 서 있었다. (C) 그런 다음에 그는 태연하게 벽을 우회하
여 걸어가 그 반대편에 있는 자신의 동료 경쟁자들과 합류했다. 소위 전문가라는 이 사람들은 

푸들이 시험에 통과하지 못했다고, 즉 그것을 뛰어넘을 지능을 갖고 있지 않다는 결론을 내렸
다. (A) 반면에, 나는 검사를 받은 모든 개 중에서 그 푸들이 가장 영리하다는 결론을 내렸다. 
이 장애물에 직면했을 때, 그는 상황을 분석하고 벽의 반대편으로 가는 목적을 달성하는 가장 

쉬운 방법을 선택했는데, 그는 그저 간단히 그것을 우회하여 걸어간 것이다!

38. [출제의도] 글의 순서를 파악한다.

치료하기 위해 식품을 사용하는 것의 증거는 수 천년을 거슬러 올라간다. 인도의 전통 치료술
인 Ayurveda가 완벽한 예이다. (B) 이 치료술은 힌두교에서 많은 생각을 빌려 와서 약초, 마

사지, 명상을 포함하는 다양한 치료법을 통합하고 있다. Ayurveda 의료인들은 치료하기 위해 
새로운 식품을 시도하기까지 할 수도 있다. Ayurveda에서 유래한 한 가지 약용 식품은 여러
분이 친숙한 것일 수도 있는 강황(turmeric)이다. (A) 그것은 흔히 아시아의 음식에 향신료로 

등장한다. 강황은 독특한 풍미가 있을 뿐만 아니라 관절염, 알츠하이머병, 그리고 몇 가지 형
태의 암을 가진 사람들에게 유용한 치료법이 될 수도 있다. (C) 연구의 증거가 아직 확실하지
는 않지만 그것은 이러한 질환에 분명 강력히 추천이 된다. 강황을 소염제로 사용해 본 나 자

신의 경험은 대단히 긍정적이었다.
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39. [출제의도] 주어진 문장이 들어갈 위치를 파악한다.

심리학자들은 기질(특성)과 상태(일시적인 감정)를 구별한다. 상을 탔거나 흥미로운 일자리 제
안을 받았을 때 혹은 누군가가 죽었을 때와 같이 여러분이 경험한 행복했거나 절망적이었던 
몇몇 순간들에 대해 생각해 보라. 이러한 경험들은 행복이나 슬픔의 상태이며, 그것들은 일상

생활에서의 일시적인 감정의 기복을 반영한다. 반면에, 특성은 시간이 흘러도 지속되는 더 영
속적인 특징이다. 이것들은 평생 상당히 변하지 않는 상태로 남아 있는 감정의 유형이나 생각
하는 방식이다. Dave가 어떤 상황에서도 ‘Dave다운’ 상태를 유지하듯이, Mary는 상당히 지

속적인 상태로 남아 있는 ‘Mary다운’ 특성을 지닌다. 쾌활하고 행복한 아기는 모험을 좋아하
고 외향적인 아이가 되는 경향이 있으며 그 아이는 외향적이고 사교적인 어른이 되는 경향이 
있다.


